

Some Operation-Transform Formulas For S_μ -Transform

DR. M.M.P. SINGH

1. Introduction:

In an earlier Paper [1] S_μ -Transform has been defined by

$$(1.1) \quad S_\mu[f(t)] = F(s) = \int_0^\infty f(t) \frac{e^{-\mu(s/t)}}{s+t} dt \quad (\mu \geq 0).$$

where $f(t)$ is a suitably restricted conventional function defined on the +ve real line $0 < t < \infty$ & $0 < \text{Res} < \infty$. It has been generalised in the case of generalised functions as

$$(1.2) \quad S_\mu[f(t)] = F(s) = \langle f(t), \frac{e^{-\mu(s/t)}}{s+t} \rangle \quad (\mu \geq 0).$$

Its invention formula has been also derived. Here it is proposed to discuss some operation transform formulae of the transform given by (1.1)

2. Operation -Transform Formulae for S_μ -Transform

Differentiation : If $\phi \in S_\mu$, where B_μ is the space of all complex valued smooth functions $\phi(t)$ such that for each $\phi(t) \in B_\mu$, we have

$$\rho_n(\phi) = \sup_{0 < t < \infty} |D^n \phi(t)| \quad (n = 0, 1, 2, \dots)$$

bounded.

We shall prove that

$$(2.1) \quad \rho_n[-D\phi] = \rho_{n+1}[\phi]$$

Since,

$$\begin{aligned} \rho_n[-D\phi] &= \sup_{0 < t < \infty} |D^n(-D\phi)| \\ &= \sup_{0 < t < \infty} |D^{n+1}(-D\phi)| \\ &= \rho_{n+1}[\phi]. \end{aligned}$$

Therefore, we get

$$\rho_n [-D\phi] = \rho_{n+1}[\phi].$$

From (2.1) it follows that $\phi \rightarrow -D\phi$ is a continuous and linear mapping of β_μ onto itself. Therefore, from Theorem 1.10-1 due to Zemanian [2, p.29], the adjoint mapping $f \rightarrow Df$ is also a continuous and linear mapping of β'_μ on to itself where β'_μ is the dual of β_μ and we get

$$(2.2) \quad \langle Df(t), \phi(t) \rangle = \langle f(t), -D\phi(t) \rangle.$$

Now, we prove that the following operation-transform formula

$$(2.3) \quad S_\mu [D^n f] \leq K.S_\mu [|f(t)|].$$

Proof: Using, the generalised definition of S_μ -transform and the relation (2.2), we get

$$\begin{aligned} S_\mu [D^n f] &= \left\langle D^n f(t) \frac{e^{-\mu s/t}}{s+t} \right\rangle \\ &= \left\langle f(t), (-D)^n f \frac{e^{-\mu s/t}}{s+t} \right\rangle \\ &= \left\langle f(t), \sum_{v=0}^n n_{c_v} (-D)^{n-v} e^{-\mu s/t} (-D)^v \frac{1}{s+t} \right\rangle \end{aligned}$$

Therefore, we get

$$(2.4) \quad S_\mu [D^n f(t)] = \left\langle f(t), \frac{e^{-\mu s/t}}{s+t} \cdot \frac{P_n(t)}{Q_n(t)} \right\rangle,$$

where $P_n(t)$ and $Q_n(t)$ are the polynomials in t such that order of $Q_n(t) \geq$ order of $P_n(t)$. Let us suppose that f is a regular generalised function of β'_μ . Therefore, for $\phi \in \beta_\mu$, we have

$$\langle f, \phi \rangle = \int_0^\infty f(t) \phi(t) dt$$

and

$$|\langle f, \phi \rangle| \leq \int_0^\infty |f(t)| |\phi(t)| dt$$

Consequently, we get

$$(2.5) \quad |\langle f, \phi \rangle| \leq \langle |f|, |\phi| \rangle$$

An appeal to (2.4) and (2.5) given

$$\begin{aligned} S_\mu [D^n f] &\leq \left\langle |f(t)|, \left| \frac{e^{-\mu s/t}}{s+t} \right| \left| \frac{P_n(t)}{Q_n(t)} \right| \right\rangle \\ &\leq \left\langle |f(t)|, \left| \frac{e^{-\mu s/t}}{s+t} \right| \right\rangle, K, \end{aligned}$$

where $\left| \frac{P_n(t)}{Q_n(t)} \right| \leq K(\text{cont.}) ; 0 < t < \infty ; 0 < s < \infty \ \& \ \mu \geq 0$.

Therefore, we get

$$S_\mu |D^n f| \leq K \left\langle |f(t), \left| \frac{e^{-\mu st}}{s+t} \right| \right\rangle \\ \leq K \cdot S_\mu [|f(t)|].$$

This completes the proof.

Multiplication by an Exponential Functions

Let μ be a real number such that $\mu \geq 0$. Now we prove that $\phi(t) \rightarrow e^{-\mu t} \phi(t)$ is a continuous and linear mapping from B_μ on to itself.

Proof: Let $\phi \in B_\mu$, We have

$$D^n [e^{-\mu t} \phi(t)] = \sum_{v=0}^n n_{c_v} D^{nv} e^{-\mu t} D^v \phi(t) \\ = \sum_{v=0}^n n_{c_v} (-\mu)^{n-v} e^{-\mu t} D^v \phi(t)$$

Therefore, we get

$$|D^n [e^{-\mu t} \phi(t)]| \leq \sum_{v=0}^n K |D^v \phi(t)|,$$

where $|n_{c_v} (-\mu)^{n-v} e^{-\mu t}| \leq K$ for $\mu \geq 0 \ \& \ 0 < t < \infty$.

Thus we get

$$(2.6) \quad \rho_n [e^{-\mu t} \phi(t)] \leq K \sum_{v=0}^n |\rho_n| \phi(t) \quad (n = 0, 1, 2, \dots ; v = 0, 1, 2, \dots).$$

From (2.6), it follow that $\phi(t) \rightarrow e^{-\mu t}$ is a continuous and linear mapping of B_μ on to itself. Therefore, from Theo. 1.10-1 due to Zemanian [2, p.29] the adjoint mapping $f \rightarrow e^{-\mu t} f$ is also a continuous and linear mapping of B_μ on to itself and we get.

$$(2.7) \quad \langle e^{-\mu t} f(t), \phi(t) \rangle = \langle f(t), e^{-\mu t} \phi(t) \rangle.$$

An appeal to (2.7) & the generalised definition of S_μ -transform.

We get

$$S_\mu [e^{-\mu t} f(t)] = \left\langle e^{-\mu t} f(t), \frac{e^{-\mu st}}{s+t} \right\rangle \\ = \left\langle f(t), e^{-\mu t} \frac{e^{-\mu st}}{s+t} \right\rangle$$

Therefore,

$$|S_\mu [e^{-\mu t} f(t)]| \leq \langle |f(t)|, |e^{-\mu t}| \left| \frac{e^{-\mu st}}{s+t} \right| \rangle$$

by (2.5) if f is a regular generalised function

$$\leq M \langle |f(t)|, \frac{e^{-\mu st}}{s+t} \rangle$$

$$\leq M S_\mu [|f(t)|],$$

where $|e^{-\mu t}| \leq M$

Thus we get an operation-transform formula

$$(2.8) \quad S_\mu [e^{-\mu t} f(t)] \leq M S_\mu [|f(t)|]$$

Multiplication by $(S+t)^{-\lambda}$ where $\lambda \rightarrow 0$; $0 < t < \infty$ & $0 < s < \infty$.

We prove that $\phi(t) \rightarrow (s+t)^{-\lambda} \phi(t)$ is an a continuous and linear mapping of B_μ on itself, where $\lambda > 0$; $0 < t < \infty$ & $0 < s < \infty$.

Proof: Let $\phi \in B_\mu$. We have

$$D_n [(s+t)^{-\lambda} \phi(t)] = \sum_{v=0}^n n_{c_v} D^{n-v} (s+t)^{-\lambda} D^v \phi(t)$$

$$= \sum_{v=0}^n n_{c_v} (-\lambda)(-\lambda-1)\dots(-\lambda-(n-v-1)) (s+t)^{-\lambda-v+v} D^v \phi(t)$$

Therefore, we get

$$|D^n (s+t)^{-\lambda} \phi(t)| \leq M \sum_{v=0}^n |D^v \phi(t)|,$$

where $|n_{c_v} (-\lambda)(-\lambda-1)\dots(-\lambda-n+v+1) (s+t)^{-\lambda-n+v}| \leq M.$

$$(n = 0, 1, 2, \dots; v = 0, 1, 2, \dots)$$

Thus we get

$$(2.9) \quad \rho_n [(s+t)^\mu \phi(t)] \leq M \sum_{v=0}^n \rho_v [\phi(t)]$$

From (2.9) it follows that $\phi(t) \rightarrow (S+t)^{-\lambda} \phi(t)$ is a continuous & linear mapping of B_μ on to itself. Therefore, from Theo. 1.10-1 due to Zemanian [2.p.29], the adjoint mapping $f \rightarrow (s+t)^{-\lambda} f$ of $\phi \rightarrow (s+t)^{-\lambda} \phi$ is also a continuous and linear mapping of β'_μ on itself and we get

$$(2.10) \quad \langle (s+t)^{-\lambda} f(t) \phi(t) \rangle = \langle f(t) (s+t)^{-\lambda} \phi(t) \rangle$$

An appeal to (2.10) & the generalised definition of S_μ -transform gives

$$S_\mu [(s+t)^{-\mu} f(t)] = \langle (s+t)^{-\lambda} f(t), e^{-\mu st} \rangle$$

$$= \langle f(t), (s+t)^{-\lambda} \frac{e^{-\mu st}}{s+t} \rangle$$

If f be a regular generalised function then by using (2.5), we get

$$|S_\mu [(s+t)^{-\lambda} f(t)]| \leq \langle |f(t)|, |(s+t)^{-\lambda}| \left| \frac{e^{-\mu st}}{s+t} \right| \rangle$$

$$\leq N \langle |f(t)|, \frac{e^{-\mu st}}{(s+t)} \rangle \leq N S_\mu [|f(t)|],$$

where

$$|(s+t)^{-\lambda}| \leq N$$

Thus we get an operation-transform formula

$$(2.11) \quad |S_\mu [(s+t)^{-\lambda} f(t)]| \leq N S_\mu [|f(t)|]$$

Sifting: Let T be a fixed real number such that $0 < t+T < \infty$ & $0 < t < \infty$.
Let $\phi(t) \in \beta_\mu$. Now we will prove that $(t+T)$ is a continuous & linear mapping of β_μ on to itself.

Proof: Let us consider

$$D^n [\phi(t+T)] = (d/dt)^n |\phi(t+T)|$$

$$= \left[\frac{d}{d(t+T)} \frac{d(t+T)}{dt} \right]^n |\phi(t+T)|$$

$$= \left(\frac{d}{d(t+T)} \right)^n |\phi(t+T)|$$

$$= D_{t+T}^n \phi(t+T)$$

$$= D_{t_1}^n [\phi(t_1)], [t_1 = t+T],$$

where $0 < t+T < \infty$ and $0 < t < \infty$.

Therefore, we get

$$(2.12) \quad D_t^n [\phi(t+T)] = D_{t_1}^n [\phi(t_1)], [t_1 = t]$$

i.e.

$$\rho_n [|\phi(t+T)|] = \rho_n |\phi(t)|$$

Thus from (2.12), it follows that $\phi(t) \rightarrow \phi(t+T)$ is a continuous and linear mapping of β_μ on to itself. Its inner mapping $\phi(t) \rightarrow \phi(t+T)$ is also a continuous and linear mapping of β_μ on to itself. Therefore, $\phi(t) \rightarrow \phi(t+T)$ is an isomorphism of β_μ onto itself. The adjoint mapping of $\phi(t) \rightarrow \phi(t+T)$ is $f(t) \rightarrow f(t+T)$ which is also a continuous and linear mapping of β'_μ onto itself due to Theorem 1.10-1 of Zemanian [2.p.29] and we get

$$(2.13) \quad \langle f(t+T), \phi(t) \rangle = \langle f(t), \phi(t+T) \rangle$$

Acknowledgment

I am grateful to Dr. K. M. Saksena, Rtd Prof. & Head, R.U. for his guidance & help in the preparation of this paper

REFERENCES

- [1] Singh M.M.P., *A generalised stieltjes transform S_μ of a class of generalised function*, Bull, Cal., Math-Society. Vol. 76. Pages 295-300 (1984)
- [2] Zemanian A.H., *Generalised Integral Transform*, John Willey & Sons., Interscience Publisher. (1968).

DR. MMP. Singh
Univ. Prof. Of Maths
P.G. Dept. Of Mathematics.
R.U. Ranchi 8., (Bihar), India.